

$$P = \frac{t}{r} = r\alpha^2 \quad \alpha = \frac{r}{r} \quad r\alpha = r \quad 1r - r\alpha + r = 0 \quad \underline{\alpha = 1}$$

$$\alpha = -\frac{r}{r} \quad r\alpha = -r \quad 1r + r\alpha + r = 0 \quad \underline{\alpha = -1}$$

۱

$$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\alpha\beta}} = \omega \quad \frac{\alpha + \beta + r\sqrt{\alpha\beta}}{\alpha\beta} = r\omega \quad \frac{s + r\sqrt{p}}{p} = r\omega$$

$$s = \frac{m+1t}{4} \quad p = \frac{1}{4} \quad \frac{\frac{m+1t}{4} + \frac{1}{4}}{\frac{1}{4}} = \frac{m+1t+1}{1} = m+1t+1 = r\omega \quad m = -1$$

$$p' = \frac{r}{-1} = -r$$

۲

$$\alpha + \beta = 1 \quad \beta = 1 - \alpha$$

$$\alpha\beta = -r \quad \alpha(1 - \alpha) = -r \rightarrow -\alpha^2 + \alpha = -r \quad \alpha^2 - \alpha - r = 0 \quad (\alpha - r)(\alpha + 1) = 0$$

$$\alpha = r, \alpha = -1$$

$$\underline{\alpha = -1 \rightarrow -t + k + 9 - r = 0 \quad k = -r}$$

۳

$$\alpha^r + r(\alpha^r + \beta^r) = \alpha^r + r(s^r - rp) = r\alpha + 1r\sqrt{r} \quad s = -4 \quad p = \alpha$$

$$\Delta = 16 - 4a \quad \alpha = \frac{-4 - \sqrt{16 - 4a}}{2} \Rightarrow \alpha^r = \frac{16 + 16 - 4a + 1r\sqrt{16 - 4a}}{4} = 11 - a + r\sqrt{4 - a}$$

از اینجا بی نهایت جزء شک ندارد (به شرط آنکه a پس حتماً: $1r\sqrt{r} = 4\sqrt{4 - a}$)

$$\Rightarrow \sqrt{4 - a} = r\sqrt{r} \quad 4 - a = r \quad \underline{\alpha = 1}$$

۴

$$\alpha^r = t \quad t^r - vt - \omega = 0 \quad \Delta = 49 + 40 = 89 \quad t = \frac{\sqrt{89} \pm \sqrt{49}}{r}$$

$$\Rightarrow \text{دو جواب قریب دارد.} \Rightarrow S = 0, P = -t$$

$$\Rightarrow rP^r - 3SP + rS = rP^r = r\left(\frac{r + \sqrt{49}}{r}\right)^r = r\left(\frac{r + 7 + 1r\sqrt{49}}{r}\right)$$

$$= \underline{\omega 9 + 7\sqrt{49}}$$

۵

S_r
↑

① $r\alpha^r - \alpha\pi - b = 0 \quad S_r = \alpha + \beta + 1 = \frac{a}{r} = -\frac{1}{r} + 1 = \frac{1}{r} \Rightarrow a = 1$
 ② $r\alpha\pi^r - \alpha\pi - a = 0 \quad S_r = \alpha + \beta = -\frac{a}{ra} = -\frac{1}{r}$
 $P_r = \alpha\beta = \frac{-4}{r} = -4 \quad P_r = (\alpha + \frac{1}{r})(\beta + \frac{1}{r}) = \alpha\beta + \frac{1}{r}(\alpha + \beta) + \frac{1}{r^2}$
 $-4 = -\frac{1}{r} + \frac{1}{r} + \frac{1}{r^2} = -4 = \frac{b}{r} \quad b = -4 \quad \left[\frac{1-4/(1)}{1} \right] = \left[-\frac{3}{1} \right] = -3$

$r \cdot (r\beta^r - \alpha^r - \beta) = 1 \quad r \cdot (\beta^r + \alpha^r - \beta^r - \beta) = r \cdot (\alpha^r + \beta^r) - \beta(\beta - 1) = 1$
 $\frac{\alpha + \beta}{\alpha^r \cdot \alpha \cdot \beta}, \quad a\beta^r - a\beta - b = 0 \quad a\beta(\beta - 1) = b \quad \beta(\beta - 1) = \frac{b}{a}$
 $S = -\frac{a}{a} = 1 \quad P = -\frac{b}{a} \Rightarrow r \cdot (S^r - rP + \beta(\beta - 1)) = r \cdot (1 + \frac{rb}{a} + \frac{b}{a}) = 1$
 $r \cdot (1 + \frac{rb}{a}) = 1 \quad 1 + \frac{rb}{a} = \frac{1}{r} \quad \frac{rb}{a} = -\frac{r}{r} \quad b = -\frac{a}{r}$
 $\Delta = \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{a^2 - 4ab}}{|a|} = \frac{\sqrt{a^2 - 4a(-\frac{a}{r})}}{|a|} = \frac{\sqrt{a^2(1 + \frac{4}{r})}}{|a|} = \sqrt{\frac{4}{r}}$

$x^r - (a-1)x + a = 0 \quad x = r\alpha - 1, x = r\alpha + 1 \quad S = t\alpha = a + 1 \quad P = t\alpha^r - 1 = a$
 $t\alpha = t\alpha^r - 1 + 1 \quad t\alpha(a-1) = 0 \quad \alpha = 0, 1 \quad \alpha = 0 \quad a = -1 \Rightarrow x^r - 1 = 0 \quad x = \pm 1$
 $\Rightarrow -1 \notin \mathbb{N} \times \Rightarrow \alpha = 1 \quad a = r \quad x^r - t\alpha + r = (x-r)(m-1) = 0 \quad x = 1, r \in \mathbb{N}$
 $\Rightarrow P = r \quad x^r - 1 = \alpha + b = 0 \quad \alpha = r\beta, r\beta, r \quad S' = 1 = t\beta + r \quad \beta = \frac{1}{r}$
 $\Rightarrow \alpha = t, 4 \quad P' = r \quad P' - P = r - r = 0$

$\Delta > 0 \quad 1 + tm^r + t > 0 \quad tm^r > -\omega \quad m^r > -\frac{\omega}{t}$
 $\alpha^r + \beta^r = S^r - rP \quad S = -1 \quad P = -m^r - 1 \Rightarrow S^r - rP = 1 + rm^r + r$
 $= rm^r + r \xrightarrow{\min} m = 0 \Rightarrow rm^r + r = r > 0 + r = r$

$a(m-\alpha)(\alpha-\beta) = a\alpha^r - \frac{b}{a}S\alpha + \frac{c}{a}Pa \quad S = \alpha + \beta = -\omega + r = -r$
 $\alpha^r + \beta^r = S^r - rP = t - rP = \omega \quad rP = -1 \quad P = -\frac{1}{r} \quad x_{\min} = -1$
 $y_{\min} = 1 \quad a = a(-1)(-r) + a(-\frac{1}{r}) = a - ra - \frac{1}{r}a = -\frac{r}{r}a = 1$
 $a = -\frac{r}{r} \quad C = a \cdot P = (-\frac{r}{r}) \cdot (-\frac{1}{r}) = \frac{1}{r}$